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77. What is the main message conveyed by the passage given above? 

(a) Globalisation is detrimental to a nation's culture and should be restricted 

(b) The lifestyle of modern Indians is significantly different from that of their ancestors 

(c) The drawbacks of globalisation are a myth and must be addressed appropriately 

(d) Every country in the world has been impacted by globalisation 

SOLUTION:  

The author states that ‘Not only in India, but the interchange of world views and ideas has 

also resulted in a major transformation of the lifestyle and living standard of people globally.’ 

 

78. Given below is the graph which shows the different occupations of men and women. The 

occupation that has larger portion of women when compared to the other jobs is 

 

(a) Clerical 

(b) Medical 

(c) Legal 

(d) Teaching 

SOLUTION:  

Legal = 20/30 = 0.66 

Clerical = 30/35 = 0.85 

Medical = 10/20 = 0.5 

Teaching = 25/35 = 0.71 

 

S.(79-80) Direction for the following 2 (two) item: Read the following Passage and answer 

the items that follow. Your answers to these items should be based on the passages only. 

PASSAGE 18 

To deal with global problems of hunger and malnutrition, natural resource degradation, loss 

of biodiversity, and rural decline, alternative visions for land use and natural resource 

management are needed as present practices and systems are making slow or no progress in 

achieving these objectives. New combinations of policies, institutions, technologies and 

values are required, linking individual interests and efforts to those of the communities and 

societies they live in, better balancing the competing aspirations for raising agricultural 

productivity, ensuring ecological sustainability, and promoting rural vitality. Growing 


